TN, [ . Adaptorse.. iR R
iiliay y/press 111t —_— Nl VIV EVE VY.

@ @ @ @ @ @ Apentepsl JIC

CrtpaHnuua / Page

1)
S -

5000 5010 5020

Nut Metric Sleeve Sleeve

CrpaHuua / Page 7 7
S : I
f | il L =
i ] | g L
= | s = o o | .
5050 5055 5035 5056 5060
Swivel Connector Swivel Union Swivel Connector Swivel Reduction 90° Swivel Elbow
M UNF x F JIC M Jic x F Jic M BSP x FJIC M Jic x F Jic FJICxMJIC

CrpaHuua / Page 9

I
s

5070 5080 5090 5260
45° Swivel Elbow Run Tee Swivel Branch Tee Swivel Swivel Connector
FJICxMJIC Connector Connector F NPSM x M NPTF
CrpaHuua / Page 10 10 1 12
g, ﬂlf— om Qe
c .-I : . ‘i | .i y ' ]
L= =il | ,!
1900 5110 5100 5130 5114
Union Bulkhead Union 90°Elbow Union 90° Bulkhead Bulkhead 45° Union Elb.
Elbow Union Jic

Crpanuua / Page 12 13 13 14
I L— T [0 m— R (a—" i

== ] - W om,
o T a7

|
|
E;

5120 5135 5137 5900
Union Tee Bulkhead Run Tee Bulkhead Branch Tee Union Cross
Jic Jic Jic Jic

CrpaHuua / Page 14 15 15 16 16 17

! T g ,-4
- = B ¥ me=m
: oy — ey | IT| prass ._'I
1 §= - L 1/ | I
Z i E.J = B
F (Bl -
1906 5140 5160 5150 5170 5180
Male Connector 90° Elbow Connector Run Tee Connector 45° Elbow Connector Branch Tee Connector Male-Female Connector
MJIC x M NPTF M JIC x M NPTF Jic-Jic-NPTF M JIC x M NPTF Jic-NPTF-Jic MJIC x F NPTF

Dimensions and general characteristics may be changed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

1-F



rrrIm n 1] | — wﬂl ittt L. LA
iiliay y/press "'l - — Wi YN kL,

@ @ @ @ @ @ Apentepsl JIC

Crpanuua / Page 19 19 20

i.[... = "_- === ,__ = i

o " l | = } =B
S5 o ’ L= ! '
i b
1907 5205 5190 5195 5200
Male Connector Long Male Connector 90° Elbow Connector Long Adjustable Elbow 45° Elbow Connector
MJIC x M UNF M Jic x M UNF UNF Orientable UNF Orientable UNF Orientable

CrpaHuua / Page 20 21 22 23

e U T

T _I,i‘lr_

-l
5210 5220 1905 1915 5185
Run Tee Connector Branch Tee Connector Male Connector Male Connector Male-Female Connector
UNF Orientable UNF Orientable MJIC x M BSP M Jic x M BSP or MJIC x F BSP
CrpaHuua / Page 25 26
= g
=i
T | ?
T S
5= b
5230 5235 5240 5250 5255 5036
90° Elbow Connector Adjustable 45° Elbow Run Tee Connector Branch Tee Connector  Adj. Elb. with swivel nut Swivel Connector
BSP Orientable MJIC x M BSP BSP Orientable BSP Orientable F JIC x M BSP F JIC x M BSP or (ED)
CrpaHuua / Page 27 28 29 30
I o 0 )
. A I —
| N T " .
1 | | 1.1 ——— | i
| ¢ ] o] ek 11
iy s Tl | [ ‘ |
1903 5165 5265 5275 5280
Male Connector 90° Elbow Connector 45° Elbow Connector Run Tee Connector Branch Tee Connector
M Jic x M BSPT M JIC x M BSPT M JIC x M BSPT Jic-Jic-BSPT Jic-BSPT-Jic

Crpanuua / Page 31 31 32 32 33 34

e———] L : 11 =3 L i 11 o E.-; £
' - | ulf
L = H 4
. 7
1777 5395 5400 5405 5410 5425
Male Connector Long Male Connector Adjustable Elbow Long Adjustable Elbow Adjustable 45° Elbow Adjustable Branch Tee
M Jic x M Metric M Jic x M Metric M JIC x M Metric M JIC x M Metric M JIC x M Metric JIC - JIC - Metric

CrpaHuua / Page 35 36

i
LLJW

5420 5037 5040 J605 J608
Adjustable Run Tee Swivel Connector SAE Plug JIC Male Plug JIC Female Plug
JIC - Metric - JIC F JIC x M Metric or (ED) Swivel

Dimensions and general characteristics may be changed at any time without prior notice.

Data contained herein are for information purpose only, and it does not enlarge, amend or imply any warranty other than provided by us with the product
Any use of the product not in conformance with our instructions may be dangerous.

2-F



mkypress ||} R Y || 1TT1LM.M.

m-
mm———-_—

5000-04 7/16" - 20

5000-06 9/16" - 18

5000-10 7/8" - 14

5000-16 25 1.5/16" - 12

5000-24 38 1-1/2" 1.7/8"- 12

Fluid Power Care 3-F

IMM Group



mkypress ||} R Y || 1TT1LM.M.

5010

5020

KonbLo Bpe3Hoe meTpuyeckoe ot

=k

@ tube

-ﬂ_-__
5010-06
______

5010-10

5010-14

5010-16

5010-20

5010-30

5010-38

Sleeve for inches tube

Konbuo gromMmoBoe b

Sleeve for inches tube

1=k

@ tube

5020-04 1/4"
______
5020-06
______
5020-10
______
5020-16
______
5020-24 1.1/2" 1.1/2"

Fluid Power Care

IMM Group



5050 KonHekTop raiika JIC X UNF HapyxHas pe3l

Connector swivel JIC female X UNF male

5050-04
5050-05
5050-06
5050-08
5050-10
5050-12
5050-16
5050-20
5050-24

8
10
12
16
20
25
32
38

1/4"

5/16"

3/8"
1/2"
5/8"
3/4"
1"

1-1/4"
1-1/2"

7/16" - 20 7/16 20
1/2"- 20 1/2"- 20
9/16" - 18 9/16" - 18
3/4" - 16 3/4" - 16
7/8" - 14 7/8" - 14
1.1/16"-12 1.1/16"-12
1.5/16"-12 1.5/16"-12
15/8"-12 1.5/8"-12
1.7/8"-12  1.7/8"-12

5055 ApanTep JIC raiika/HapyxHas pe3bb6a

Swivel Union M/F

5055-04
5055-05
5055-06
5055-08
5055-10
5055-12
5055-16
5055-20
5055-24
5055-32

Jic

8
10
12
16
20
25
32
38
50

1/4"

5/16"

3/8"
1/2"
5/8"
3/4"
1"

1-1/4"
1-1/2"

on

7/16" - 20 7/16 20
1/2"- 20 1/2"- 20
9/16" - 18 9/16" - 18
3/4" - 16 3/4" - 16
7/8" - 14 7/8" - 14
1.1/16"-12 1.1/16"-12
1.5/16"-12 1.5/16"-12
15/8"-12 1.5/8"-12
1.7/8"-12  1.7/8"-12
2.1/2"-12 2.1/2"-12

9
10
11
13
15
15
15
15

14
14
14
17
19
22
23
24
28
34

34
36
42
47
51
58
63
68

28
29
34
39
43
47
53
60
71

17
19
24
27
32
38
50
55

17
19
24
27
32
38
50
55
60

17
17
22
27
32
38
50
55

14
15
19
24
27
34
42
50
65




mkypress ||} R Y || 1TT1LM.M.

5035

KoHHekTop ramka JIC X BSP HapyxHas pe3

Connector swivel JIC female X BSP male

m-
mm_—--nﬂ—

5035-04-02 4" 7/16" - 20 1/8"-28

5035-04-06 4" 7/16" - 20 3/8"-19 11 15

5035-05-04 8 5/16" 1/2"- 20 1/4"-19 11 34 17

5035-06-04 10 3/8" 9/16" - 18 1/4"-19 11 3% 19 19

5035-06-08 10 3/8" 9/16" - 18 1/2"-14 15 41 19 27

5035-08-06 12 1/2" 3/4" - 16 3/8"-19 11 39 24

5035-10-06 16 8" 7/8" - 14 3/8"-19 11 43 27

5035-10-12 16 8" 7/8" - 14 3/4"-14 15 49 27

5035-12-12 20 3/4" 1.1/16"- 12 3/4"-14 15 49 32 32

5035-16-12 25 1" 1.5/16" - 12 3/4"-14 15 52

5035-16-20 25 1" 15/16"-12 1.1/4"-11 19 63 38 50

5035-20-20 1-1/4"  1.5/8"-12 1.1/4"-11 19 50 50

Fluid Power Care

IMM Group



Il imimm.

5056 ApanTep penykuuoHHbIn JIC ranka/Hapy

Swivel Reduction M/F JIC =
I
E
[ N N
mm_—n—ﬂ—

5056-06-04 3/8" 9/16" - 18 7/16" - 20

5056-06-05 10 3/8" 9/16" - 18 1/2" - 20 14 23 19

5056-08-04 12 1/2" 3/4" - 16 7/16" - 20 14 24 22

5056-08-05 12 1/2" 3/4" - 16 1/2" - 20 14 24 22

5056-08-06 12 1/2" 3/4" - 16 9/16" - 18 14 24 22

5056-10-04 16 5/8" 7/8" - 14 7/16" - 20 14 25 27

5056-10-06 16 5/8" 7/8" - 14 9/16" - 18 14 25 27

5056-10-08 16 5/8" 7/8" - 14 3/4" - 16 17 28 27

5056-12-04 20 3/4" 1.1/16"-12 7/16"-20 14 27 32

5056-12-06 20 3/4" 1.1/16"-12 9/16"-18 14 27 32

5056-12-08 20 3/4" 1.1/16"-12  3/4"-16 17 30 32

5056-12-10 20 3/4" 1.1/16"-12  7/8"-14 19 32 32

5056-16-10 25 1" 1.5/16"-12  7/8"-14 19 34 41

5056-16-12 25 1" 1.5/16"-12 1.1/16"-12 22 36 41

5056-20-12 32 1.1/4" 1.5/8"-12 1.1/16"-12 22 39 50

5056-20-16 32 1.1/4" 1.5/8"-12 15/16"-12 23 40 50

5056-24-12 38 1.1/2" 1.7/8"-12 1.1/16"-12 22 41 60

5056-24-16 38 1.1/2" 1.7/8"-12 1.5/16"-12 23 42 60

5056-24-20 38 1.1/2" 1.7/8"-12 1.5/8"-12 24 43 60

5060 KoHHekTop 90° JIC ranka/HapyxHas
pe3bba

90° connector swivel JIC female X JIC male

l.__F
S N N N
mm-_--lllﬂ_
5060-04 1/4" 7/16"-20  7/16"-20 26
5060-05 8 5/16" 1/2"- 20 1/2"- 20 29 26 16 14
5060-06 10 3/8" 9/16"-18 9/16"-18 32 26 19 14
5060-08 12 1/2" 3/4" - 16 3/4" - 16 35 32 24 19
5060-10 16 5/8" 7/8" - 14 7/8" - 14 41 36 27 22
5060-12 20 3/4" 1.1/16"-12 1.1/16"-12 44 40 32 27
5060-16 25 1" 15/16"-12 1.5/16"-12 50 42 38 34
5060-20 32 1.1/4" 15/8"-12 15/8"-12 59 52 50 41
5060-24 38 1.1/2" 1.7/8"-12 1.7/8"-12 66 59 60 48
5060-32 50 2" 21/2"-12 21/2"-12 78 85 66 70




5070

5080

KoHHekTOp 45° JIC ranka/HapyxHas pe3bba

45° connector swivel JIC female X JIC male

5070-04
5070-05
5070-06
5070-08
5070-10
5070-12
5070-16

8
10
12
16
20
25

1/4"
5/16"
3/8"
1/2"
5/8"
3/4"
1"

7/16" - 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14

1.1/16"-12 1.1/16"-12
1.5/16"-12 1.5/16"-12

TponHuk 6oKkoBas ramka

Female run tee

5080-04
5080-05
5080-06
5080-08
5080-10
5080-12
5080-16
5080-20

8
10
12
16
20
25
32

1/4"

5/16"

3/8"
1/2"
5/8"
3/4"
1"

1.1/4"

7/16" - 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14

1.1/16"-12 1.1/16"-12
1.5/16"-12 1.5/16"-12

1.5/8"-12

7/16 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14

7/16 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14

1.5/8"-12

25
25
32
34
38
44

&

21
21
29
29
33
48

16
19
24
27
32
38

14
14
19
22
27
33

25
27
32
35
41
44
51
58

24
27
32
37
42
46
52

17
19
24
27
32
38
50

13
14
19
22
27
33
41




5090

5260

TpPOMHMK HNXKHAA ranka

Female branch tee

5090-04
5090-05
5090-06
5090-08
5090-10
5090-12
5090-16
5090-20

8
10
12
16
20
25
32

1/4"

5/16"

3/8"
1/2"
5/8"
3/4"
1"

1.1/4"

7/16" - 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14

1.1/16"-12 1.1/16"-12
1.5/16"-12 1.5/16"-12

1.5/8"-12

7/16 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14

1.5/8"-12

Mpsamown koHHekTOp ranka NPSM X

NPTF HapyxHas pe3bba

Straight connector NPSM female X NPTF male

5260-02
5260-04
5260-06
5260-08
5260-12
5260-16

8
10
12
20
25

1/4"
5/16"
3/8"
1/2"
3/4"

1"

1/8"- 28
1/4" - 18
3/8" - 18
1/2"- 14
3/4" - 14
1"-115

1/8 28
1/4" - 18
3/8" - 18
1/2"- 14
3/4" - 14
1"-115

24
26
32
37
42
46
52

1

14
14
19
19
24

27
30
35
41
44
52
59

36
39
48
53
61

17
19
24
27
32
38
50

14
14
19
22
27
33
41

19
22
27
32
38

15
19
27
32
36




iiikypress || R T TN | 1TT1L MM

1900

5110

KoHHeKTOp HapyxHas pe3bba

Male connector

ot | O | e ]
mm-——-_—

1900-04-04 4" 7/16" - 20
_--_____
1900-06-06 10 3/8" 9/16" - 18
_--_____
1900-10-10 16 5/8" 7/8" - 14
_--_____
1900-16-16 25 1" 1.5/16" - 12
_--_____
1900-24-24 38 1.1/2" 1.7/8" - 12

MpsaMoe nepe6opoyHoe coeanHeHne L

Straight Bulkhead Union

i | | e |
mm-_-ﬂlllﬂ_

5110-04 4" 7/16" - 20 14 31 17
_--__----_

5110-06 3/8" 9/16" - 18 14 33 22 16
_--__----_

5110-10 16 8" 7/8" - 14 41 30 24
_--__----_

5110-16 1" 1.5/16" - 12 80 45 41
_--__----_

5110-24 38 1.1/2" 1.7/8" - 12 89 47 55

Fluid Power Care 10-F IMM Group



mkypress ||} R Y || 1TT1LM.M.

®
5100 90° apanTep ’_ -

90° Elbow Union M- - I

i | | e ]
mm———-_—

5100-04 7/16" - 20
_--____
5100-06 9/16" - 18
_--____
5100-10 7/8" - 14
_--____
5100-16 25 1.5/16" - 12
_--____
5100-24 38 1.1/2" 1.7/8"- 12

5130 Nepe6opouHbii aganTtep 90°

Bulkhead 90° Elbow Union

m-
mm_—-nnﬂ—

5130-04 4" 7/16" - 20 41 28 17

5130-06 3/8" 9/16" - 18 46 30 22 14

5130-10 16 8" 7/8" - 14 61

5130-16 1" 1.5/16" - 12 71 43 41

Fluid Power Care 11-F IMM Group



mkypress ||} R Y || 1TT1LM.M.

5114

5120

MepebopouHbin apantep 45°

Bulkhead 45° Elbow Union

m-
IﬂﬂﬂlﬂﬂllllillIIIIIIIJ“IIIHHEIIIIII

5114-04 4" 7/16"-20 7/16"-20 19 39 17

5114-06 3/8" 9/16"-18  9/16"-18 21 43 22 14

5114-10 16 8" 7/8" - 14 7/8" - 14 28 55

5114-16 1" 15/16"-12 1.5/16"-12 38 65 41

5114-24 38 1-1/2"  1.7/8"-12 1.7/8"-12 45 68 55 48

TponHuk

Union Tee

i | | e |
IlﬂﬂﬂlﬂﬂllllillllllllIIIIIEIIHEIIIIII

5120-04 4" 7/16" - 20 26 26
Il!!g!!llIIIIII!!I!ggl!!lllllllllIIIIIIIIIIIIIII
II!EEEIIl!!lll-“!zlﬂlIIIIIIIIIIIIIIIIIIIIII
Il!!g!!llIIIIII-I!!g!!!lllllllllIIIIIIIIIIIIIII
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

5120-24 1.1/2" 1.7/8" - 12 118 59

Fluid Power Care 12-F

IMM Group



I8y press

5135  Tpo#HMK Nepe6opPOYUHbLIA HapyXKHE ‘ = o)

-

Bulkhead male run tee L

m-
[ mm [ nech { F | | B|]C|H[E[ |
6 40 17 14

5135-04 1/4" 7/16" - 20 25
5135-05 8 5/16" 1/2"- 20 27 44 19 14
5135-06 10 3/8" 9/16" - 18 28 46 22 14
5135-08 12 1/2" 3/4"- 16 35 54 24 19
5135-10 16 5/8" 7/8" - 14 40 61 30 22
5135-12 20 3/4" 1.1/16"- 12 45 68 36 27
5135-16 25 1" 1.5/16" - 12 50 71 41 33
5135-20 32 1-1/4"  1.5/8"-12 55 79 50 41
5135-24 38 1-1/2" 1.7/8"-12 59 87 55 48
B B
=
lE'

5137  TpoWHUK Nepe6opPOUHbIN HAPYXKHbI¢ L |

Bulkhead male Branch tee

rF
e N R
. mm | nch | F [ [BJCJ|]HIE] |
5137-04 6 U4 716"-20 25 40 17 14
5137-05 8 516"  172'-20 27 44 19 14
5137-06 10 38 9/16"-18 28 46 22 14
5137-08 12 U2 3416 35 54 24 19
5137-10 16 58 78-14 40 61 30 22
5137-12 20 34 1116"-12 45 68 36 27
5137-16 25 1" 151612 50 71 41 33
5137-20 32 1U4 15612 55 79 50 41
5137-24 8 1120 17812 59 87 55 48

13-F



FTTInNe

Jliigd y/press ".

L]
ali

ainlMmM.

5900

1906

X-apgantep

Union Cross JIC

5900-04
5900-05
5900-06
5900-08
5900-10
5900-12
5900-16
5900-20
5900-24

Jic

8
10
12
16
20
25
32
38

1/4"

5/16"

3/8"
1/2"
5/8"
3/4"
1"

1-1/4"
1-1/2"

7/16" - 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12
1.5/8"-12
1.7/8" - 12

14
14
17
19
22
23
24
28

KoHHekTOop NPTF X JIC HapyXHble pe3b0bl

Male connector NPTF male X JIC male

1906-02-04
1906-02-05
1906-02-06
1906-04-04
1906-04-05
1906-04-06
1906-06-06
1906-06-08
1906-06-10
1906-08-04
1906-08-06
1906-08-08
1906-08-10
1906-08-12
1906-12-08
1906-12-10
1906-12-12
1906-12-16
1906-16-12
1906-16-16
1906-16-20
1906-20-20
1906-24-24
1906-32-32

24
27
32
37
42
46
52
59

14
14
19
22
27
33
41
48

8
10
6
8
10
10
12
16
6
10
12
16
20
12
16
20
25
20
25
32
32
38
50

1/4"

5/16"

3/8"
1/4"

5/16"

3/8"
3/8"
1/2"
5/8"
1/4"
3/8"
1/2"
5/8"
3/4"
1/2"
5/8"
3/4"
1"
3/4"
1"

1.1/4"
1.1/4"
1.1/2"

on

7/16" - 20
1/2"- 20
9/16" - 18
7/16" - 20
1/2" - 20
9/16" - 18
9/16" - 18
3/4" - 16
7/8" - 14
7/16" - 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12
1.1/16" - 12
1.5/16" - 12
1.5/8" - 12
1.5/8"-12
1.7/8" - 12
2.1/2" - 12

1/8"
1/8"
1/4"
1/4"
1/4"
3/8"
3/8"
3/8"
1/2"
1/2"
1/2"
1/2"
1/2"
3/4"
3/4"
3/4"
3/4"
1"
1"
1"

1.1/4"
1.1/2"

14
14
14
14
14
14
17
19
14
14
17
19
22
17
19
22
23
22
23
24
24
28
34

31
30
35
35
36
36
39
43
41
41
44
48
49
45
50
52
52
56
58
62
62
66
78

10
10
14
14
14
14
14
14
19
19
19
19
19
19
19
19
19
24
24
24
25
25
26

14
15
15
15
15
19
19
24
7
22
7
24
7
27
7
27
34
36
36
46
46
50
65

14-F



L
all

ainlMmM.

5140

5160

KoHHekTop 90° JIC X NPTF HapyXHble |

T Jcl L _|E]
1/8" 25 24 14

i |
90° connector JIC male X NPTF male i
I
part number @ tube
| mm [ inch | F | T

5140-02-04 6 1/4" 7/16" - 20
5140-02-05 8 5/16" 1/2" - 20 1/8" 26
5140-04-04 6 1/4" 7/16" - 20 1/4" 26
5140-04-05 8 5/16" 1/2" - 20 1/4" 26
5140-04-06 10 3/8" 9/16" - 18 1/4" 26
5140-06-06 10 3/8" 9/16" - 18 3/8" 28
5140-06-08 12 1/2" 3/4" - 16 3/8" 32
5140-06-10 14 5/8" 7/8" - 14 3/8" 34
5140-08-06 10 3/8" 9/16" - 18 1/2" 29
5140-08-08 12 1/2" 3/4" - 16 1/2" 34
5140-08-10 15 5/8" 7/8" - 14 1/2" 34
5140-08-12 18 3/4" 1.1/16" - 12 1/2" 40
5140-12-08 12 1/2" 3/4" - 16 3/4" 36
5140-12-10 16 5/8" 7/8" - 14 3/4" 39
5140-12-12 20 3/4" 1.1/16" - 12 3/4" 40
5140-12-16 25 1" 1.5/16" - 12 3/4" 47
5140-16-16 25 1" 1.5/16" - 12 1" 47
5140-16-20 32 1.1/4" 1.5/8"-12 1" 56
5140-20-20 32 1.1/4" 1.5/8"-12 1-1/4" 56
5140-24-24 38 1.1/2" 1.7/8" - 12 1-1/2" 62
5140-32-32 50 2" 2.1/2" - 12 2" 74

TpounHuk NPTF X JIC HapyXHble pe3bt

NPTF male Run Tee

24
27
27
27
32
32
36
36
36
36
42
40
43
43
46
47
57
59
62
74

14
14
14
14
19
19
22
22
22
22
27
27
27
27
35
85
44
44
50
65

part number
[ mm | nch | F [ T

5160-02-04
5160-04-04
5160-04-05
5160-04-06
5160-06-08
5160-08-10
5160-12-12
5160-16-16

1/4"
1/4"
5/16"
3/8"
1/2"
5/8"
3/4"
1"

7/16" - 20
7/16" - 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16"- 12
1.5/16" - 12

1/8"
1/4"
1/4"
1/4"
3/8"
1/2"
3/4"
1"

(c|L]|BlE] |
23 43 20 14
26 52 26 14
24 51 27 14
27 55 28 14
322 63 31 19
37 74 31 22
2 82 40 27
46 92 455 32

15-F



Il imimm.

5150

5170

KoHHekTop 45° JIC X NPTF HapyXHble pe3bt,

45° connector JIC male X NPTF male

part number

5150-02-04
5150-02-05
5150-04-04
5150-04-05
5150-04-06
5150-06-06
5150-06-08
5150-06-10
5150-08-06
5150-08-08
5150-08-10
5150-08-12
5150-12-08
5150-12-10
5150-12-12
5150-12-16
5150-16-16
5150-16-20
5150-20-20
5150-24-24
5150-32-32

TpounHuk NPTF X JIC HapyXHble pe3bbb

NPTF male branch Tee

part number

5170-02-04
5170-04-04
5170-04-05
5170-04-06
5170-06-08
5170-08-10
5170-12-12
5170-16-16

@ tube

T Jcl L _[E] |
1/8" 20 18 14

[ mm | nch | F [ T
6 U4 716'-20 18"
6 w4 716'-20 U4
8 516"  172"-20 4
10 3 916"-18 14
12 12 34-16 318"
16 58 78-14 172"
20 34 1116"-12  34”
25 " 1s16'-12 1

@ tube
[ mm | inch [ F [ T |

6 1/4" 7/16" - 20

8 5/16" 1/2" - 20 1/8" 22
6 1/4" 7/16" - 20 1/4" 21
8 5/16" 1/2"- 20 1/4" 20
10 3/8" 9/16" - 18 1/4" 22
10 3/8" 9/16" - 18 3/8" 22
12 1/2" 3/4" - 16 3/8" 27
14 5/8" 7/8" - 14 3/8" 29
10 3/8" 9/16" - 18 1/2" 22
12 1/2" 3/4" - 16 1/2" 27
15 5/8" 7/8"-14 1/2" 32
18 3/4" 1.1/16" - 12 1/2" 35
12 1/2" 3/4" - 16 3/4" 30
16 5/8" 7/8"-14 3/4" 29
20 3/4" 1.1/16"-12 3/4" 33
25 1" 1.5/16" - 12 3/4" 29
25 1" 1.5/16" - 12 1" 37
32 1.1/4" 1.5/8"-12 1" 42
32 1.1/4" 1.5/8"-12 1-1/4" 42
38 1.1/2" 1.7/8" - 12 1-1/2" 44
50 2" 2.1/2" - 12 2" 58

(c|L]|BlE] |
20 46 23 14
26 52 26 14
26 52 26 14
28 54 27 14
31 64 32 19
37 74 31 22
40 84 42 27
50 92 46 35

20 14
20 14
20 14
23 19
23 19
23 22
23 22
28 22
28 22
32 27
32 27
32 27
29 27
32 27
29 35
38 35
43 44
43 44
43 50
52 65 70
L
B :
(E}

16 -F



iiikypress || R T TN | 1TT1L MM

5180

KoHHekTOop NPTF BHyTpeHHss X JIC HapyXHs ~ —

Connector NPTF female X JIC male

m-
mm-——-l:—

5180-02-04 4" 7/16" - 20 1/8" - 27

5180-04-06 10 3/8" 9/16" - 18 1/4"- 18

5180-06-08 12 1/2" 3/4" - 16 3/8" - 14

5180-12-12 4" 1.1/16"-12  3/4"-14 51 27

Fluid Power Care 17 -F

IMM Group



FTTInNe

Jliigd y/press ".

L]
ali

ainlMmM.

1907

5205

KoHHekTOop JIC X UNF HapyXHble pe3bbbl

part number

1907-04-04
1907-04-05
1907-04-06
1907-05-05
1907-05-08
1907-06-06
1907-06-08
1907-08-08
1907-08-10
1907-10-08
1907-10-10
1907-10-12
1907-12-10
1907-12-12
1907-12-16
1907-16-12
1907-16-16
1907-20-20
1907-24-24

e -
Male connector JIC male X UNF straight thread
| \_WANUMJ i
E
@ tube

6 1/4" 7/16" - 20 7/16" - 20

6 1/4" 7/16" - 20 1/2" - 20 14 31 9 17
6 1/4" 7/16" - 20 9/16" - 18 14 32 10 17
8 5/16" 1/2" - 20 1/2" - 20 14 31 9 17
8 5/16" 1/2" - 20 3/4"-14 14 35 11 22
10 3/8" 9/16"-18 9/16"-18 14 33 10 17
10 3/8" 9/16" - 18 3/4"-14 14 35 11 22
12 1/2" 3/4" - 14 3/4" - 14 17 38 11 22
12 1/2" 3/4"-14 7/8"-14 17 39 13 27
14 5/8" 7/8" - 14 3/4"- 14 19 38 11 24
15 5/8" 7/8"-14 7/8"-14 19 43 13 27
16 5/8" 7/8" - 14 1.1/16"-12 19 47 15 32
20 3/4" 1.1/16"-12  7/8"-14 22 46 13 27
20 3/4" 1.1/16"-12 1.1/16"-12 22 50 15 32
20 3/4" 1.1/16"-12 1.5/16"-12 22 51 15 38
25 1" 1.5/16"-12 1.1/16"-12 23 51 15 34
25 1" 1.5/16"-12 1.5/16"-12 23 52 15 38
32 1.1/4" 15/8"-12 15/8"-12 24 55 15 50
38 1.1/2" 1.7/8"-12 1.7/8"-12 28 60 15 55

— L —
- 8]
KoHHekTop yanuHeHHbIN JIC X UNF Ha |
| =

Long Male Connector Jic/UNF

5205-04-04
5205-05-05
5205-06-06
5205-08-06
5205-08-08
5205-08-10
5205-10-08
5205-10-10
5205-10-12
5205-12-10
5205-12-12
5205-16-12
5205-16-16
5205-20-20
5205-24-24

8
10
10
12
14-16
12
14-16
18-20
14-16
18-20
18-20
25
30-32
38

1/4"

5/16"

3/8"
3/8"
1/2"
5/8"
1/2"
5/8"
3/4"
5/8"
3/4"
3/4"
1"

1.1/4"
1.1/2"

7/16-20
1/2-20
9/16-18
9/16-18
3/4-16
7/8-14
3/4-16
7/8-14
1.1/16-12
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/8-12
1.7/8-12

7/16-20
1/2-20
9/16-18
3/4-16
3/4-16
3/4-16
7/8-14
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

54
59
60
68
75
72

9
10
11
11
11
13
13
13
15
15
15
15
15
15

37
40
40
48
53
48
53
64
53
64
64
72
88
99

16
17
22
22
24
27
27
27
32
32
35
35
50
55

18 -F



LU
all

ainlMmM.

5190

5195

KoHHekTOp 90° perynupyembin JIC X

UNF HapyXHble pe3bObl

90° elbow "adjustable" connector JIC male X UNF

straight thread male

e N R
IﬂﬂﬂlﬂﬂllllillIIIIIIII“IIIHHEIIIIII

5190-04
5190-05
5190-06
5190-08
5190-10
5190-12
5190-16
5190-20

8
10
12
16
20
25
32

1/4"

5/16"

3/8"
1/2"
5/8"
3/4"
1"

1.1/4"

7/16" - 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14

1.1/16"-12 1.1/16"-12
1.5/16"-12 1.5/16"-12

1.5/8"-12

KoHHeKkTOp perynupyemMbin
yannHeHHbin JIC X UNF HapyXHble

45° elbow "adjustable" connector JIC male X UNF

straight thread male

7/16" - 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14

1.5/8"-12

26
26
31
25
41
47
57

|

32 17 14
32 17 14
37 22 19
43 25 22
49 32 27
52 38 35
57 48 43
C
H
T TE I
o
F

ot | | e |
IﬂﬂﬂlﬂﬂllllillIIIIIIIJ“IIIE“EIIIIII

5195-04-04
5195-05-05
5195-06-06
5195-08-06
5195-08-08
5195-08-10
5195-10-08
5195-10-10
5195-10-12
5195-12-10
5195-12-12
5195-16-12
5195-16-16
5195-20-20
5195-24-24

8
10
10
12
14-16
12
14-16
18-20
14-16
18-20
18-20
25
30-32
38

1/4"

5/16"

3/8"
3/8"
1/2"
5/8"
1/2"
5/8"
3/4"
5/8"
3/4"
3/4"
1"

1.1/4"
1.1/2"

7/16-20
1/2-20
9/16-18
9/16-18
3/4-16
7/8-14
3/4-16
7/8-14
1.1/16-12
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/8-12
1.7/8-12

7/16-20
1/2-20
9/16-18
3/4-16
3/4-16
3/4-16
7/8-14
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

24
27
29
32
37
34
37
42
40
42
45
46
52
59

50
57
67
67
75
78
78
88
92
92
105
105
124
135

16
17
22
22
22
27
27
27
32
32
41
41
50
55

14
14
19
19
22
22
22
27
27
27
33
33
41
48

19 -F



5200

5210

KoHHekTop 45° perynupyembin JIC X UNF

HapyXHble pe3b0Obl

45° elbow "adjustable" connector JIC male X UNF
straight thread male

e N R
IlﬂﬂllﬁﬂﬂllllillIIIIIIIIIIIIIEIIEIIIIIII

5200-04
5200-05
5200-06
5200-08
5200-10
5200-12
5200-16
5200-20

TpounHuk perynupyembin UNF HapyXxHble pe

Adjustable UNF male run Tee

5210-04
5210-05
5210-06
5210-08
5210-10
5210-12
5210-16

8
10
12
16
20
25
32

1/4"
5/16"
3/8"
1/2"
5/8"
3/4"

8
10
12
16
20
25

1/4"

5/16"

3/8"
1/2"
5/8"
3/4"
1"

1.1/4"

1"

7/16"-20  7/16"- 20
1/2"- 20 1/2"- 20
9/16"-18  9/16"- 18

3/4" - 16 3/4" - 16
7/8" - 14 7/8" - 14
1.1/16"-12 1.1/16"-12
1.5/16"-12 1.5/16"-12
15/8"-12 1.5/8"-12

7/16" - 20 7/16 20
1/2"- 20 1/2"- 20
9/16"-18  9/16"- 18

3/4" - 16 3/4" - 16
7/8" - 14 7/8" - 14
1.1/16"-12 1.1/16"-12
1.5/16"-12 1.5/16"-12

22
22
26
30
35
39
40

10
11
11
13
14
17
17

29
29
33
39
44
47
49

17
17
22
25
32
38
48

14
14
19
22
27
25
43

52
59
69
80
91
98

28
32
37
43
49
52

13
14
19
22
27
33

20-F




LA
ali

ainlMmM.

5220 TpowHuk perynupyembiin UNF HapyXHble | ’—

1905

Adjustable UNF male branch Tee

5220-04
5220-05
5220-06
5220-08
5220-10
5220-12
5220-16

KoHHekTOp BSP X JIC HapyXHble pe3b0bl

JC

c

X

8
10
12
16
20
25

1/4"

5/16"

3/8"
1/2"
5/8"
3/4"
1"

7/16" - 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14

1.1/16"-12 1.1/16"-12
1.5/16"-12 1.5/16"- 12

Connector BSP parallel thread male X JIC male

7/16" - 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14

24
27
32
37
42
46

28
32
37
43
49
52

16
17
22
27
32
38

13
14
19
22
27
33

1905-02-04
1905-04-04
1905-04-05
1905-04-06
1905-06-05
1905-06-06
1905-06-08
1905-06-10
1905-08-06
1905-08-08
1905-08-10
1905-08-12
1905-10-10
1905-10-12
1905-12-10
1905-12-12
1905-12-16
1905-16-12
1905-16-16
1905-16-20
1905-20-20
1905-24-20
1905-24-24

6
8
10
8
10
12
14
10
12
15
20
14
14
14
20
25
20
25
32
32
32
38

1/4"
1/4"

5/16"

3/8"

5/16"

3/8"
1/2"
5/8"
3/8"
1/2"
5/8"
3/4"
5/8"
5/8"
5/8"
3/4"
1"
3/4"
1"

1.1/4"
1.1/4"
1.1/4"
1.1/2"

7/16" - 20
7/16" - 20
1/2" - 20
9/16" - 18
1/2" - 20
9/16" - 18
3/4" - 16
7/8" - 14
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
7/8" - 14
1.1/16" - 12
7/8" - 14
1.1/16"- 12
1.5/16" - 12
1.1/16"- 12
1.5/16" - 12
1.5/8"-12
1.5/8" - 12
1.5/8"-12
1.7/8" - 12

1/4“
1/4"
1/4"
3/8"
3/8"
3/8"
3/8"
1/2"
1/2"
1/2"
1/2"
5/8"
5/8"
3/4"
3/4"
3/4"
1"
1"
1"
1.1/4"
1.1/2"
1.1/2"

14
14
14
14
14
17
19
14
17
19
22
19
22
19
22
23
22
23
24
24
24
28

34
34
34
36
36
38
42
39
42
44
47
46
49
46
49
52
52
54
57
58
59
63

12
12
12
12
12
12
12
14
14
14
14
16
16
16
16
16
18
18
18
20
22
22

19
19
19
22
22
22
24
27
27
27
27
30
30
32
32
34
41
41
42
50
55
55

21-F



[TTE Ly press L’:lll mLmMm

1915

KoHHekTOp HapyXHble pe3bbbl JIC/BSP ynn

Male Connector Jic/BSP O'Ring

m-
mm_—-n-ﬂ—

1915-02-04 4" 7/16-20 1/8-28 29

1915-04-04 1/4" 7/16-20 1/4-19 35 12 14

1915-04-06 10 8" 9/16-18 1/4-19 35 12 14

1915-06-04 1/4" 7/16-20 3/8-19 35 12 14

1915-06-06 10 8" 9/16-18 3/8-19 35 12 14

1915-06-10 14-16 5/8" 7/8-14 3/8-19 41 12 20 24

1915-08-08 12 2" 3/4-16 1/2-14 41 17

1915-08-12 18-20 3/4" 1.1/16-12 1/2-14 47 14 22 27

1915-12-10 14-16 5/8" 7/8-14 3/4-11 48 16 20
_--__----_

1915-12-16 25 1" 1.5/16-12 3/4-11 51 16 23
_--__----_

1915-16-16 25 1" 1.5/16-12 1-11 54 18 23 41
_--__----_

1915-20-16 25 1" 1.5/16-12 1.1/4-11 57 20 23 50
_--__----_

1915-24-24 38 1.1/2" 1.7/8-12 1.1/2-11 66 22 28

Fluid Power Care 22 -F IMM Group



L
all

ainlMmM.

5185

5230

KoHHekTop BSP BHyTpeHHss X JIC HapyXHas

Connector BSP female X JIC male

tub
part number @tube

5185-02-04 6 1/4" 7/16-20 1/8 28
5185-02-05 8 5/16" 1/2-20 1/8-28
5185-04-04 6 1/4" 7/16-20 1/4-19
5185-04-05 8 5/16" 1/2-20 1/4-19
5185-04-06 10 3/8" 9/16-18 1/4-19
5185-04-08 12 1/2" 3/4-16 1/4-19
5185-06-06 10 3/8" 9/16-18 3/8-19
5185-06-08 12 1/2" 3/4-16 3/8-19
5185-08-06 10 3/8" 9/16-18 1/2-14
5185-08-08 12 1/2" 3/4-16 1/2-14
5185-08-10 16 5/8" 7/8-14 1/2-14
5185-08-12 20 3/4" 1.1/16-12 1/2-14
5185-12-12 20 3/4" 1.1/16-12 3/4-11
5185-16-16 25 1" 1.5/16-12 1-11

KoHHekTop 90° perynupyembin JIC X BSP
Hapy>XHble pe3bObl

90° elbow "adjustable" connector JIC male X BSP
straight thread male

tub
part number @ tube

14
14
14
14
17
14
17
14
17
20
22
22
23

28
31
31
31
36
36
36
41
41
42
45
48
55

19
19
19
22
27
22
27
22
27
32
32
32
41

5230-02-04 6 1/4" 7/16" - 20
5230-04-04 6 1/4" 7/16" - 20 1/4“
5230-04-05 8 5/16" 1/2"- 20 1/4"
5230-04-06 10 3/8" 9/16" - 18 1/4"
5230-06-06 10 3/8" 9/16" - 18 3/8"
5230-06-08 12 1/2" 3/4" - 16 3/8"
5230-06-10 14 5/8" 7/8" - 14 3/8"
5230-08-08 12 1/2" 3/4" - 16 1/2"
5230-08-10 15 5/8" 7/8" - 14 1/2"
5230-08-12 20 3/4" 1.1/16"- 12 1/2"
5230-12-10 16 5/8" 7/8" - 14 3/4"
5230-12-12 20 3/4" 1.1/16"- 12 3/4"
5230-16-16 25 1" 1.5/16" - 12 1"
5230-20-20 32 1.1/4" 1.5/8"-12 1.1/4"
5230-24-24 38 1.1/2" 1.7/8"-12 1.1/2"

24
24
27
29
32
37
34
37
42
37
42
46
52
59

32
33
32
37
37
43
43
43
47
50
50
52
57
61

14
14
14
19
19
22
22
22
27
36
36
41
50
55

14
14
14
19
19
22
22
22
27
27
27
33
41
48

23-F



FTTInNe

Jliigd y/press ".

L]
ali

ainlMmM.

5235

5240

KoHHekTop 45° perynupyembin JIC X BSP Hay,_|

Adjustable BSP male run Tee

part number

5235-02-04
5235-02-05
5235-04-04
5235-04-05
5235-04-06
5235-04-08
5235-06-04
5235-06-05
5235-06-06
5235-06-08
5235-06-10
5235-08-06
5235-08-08
5235-08-10
5235-08-12
5235-12-08
5235-12-10
5235-12-12
5235-12-16
5235-16-12
5235-16-16
5235-16-20
5235-20-16
5235-20-20
5235-24-24

@ tube
6 1/4"
8 5/16"
6 1/4"
8 5/16"
10 3/8"
12 1/2"
6 1/4"
8 5/16"
10 3/8"
12 1/2"
14-16 5/8"
10 3/8"
12 1/2"
14-16 5/8"
18-20 3/4"
12 1/2"
14-16 5/8"
18-20 3/4"
25 1"
18-20 3/4"
25 1"
30-32 1.1/4"
25 1"
30-32 1.1/4"
38 1.1/2"

7/16-20
1/2-20
7/16-20
1/2-20
9/16-18
3/4-16
7/16-20
1/2-20
9/16-18
3/4-16
7/8-14
9/16-18
3/4-16
7/8-14
1.1/16-12
3/4-16
7/8-14
1.1/16-12
1.5/16-12
1.1/16-12
1.5/16-12
1.5/8-12
1.5/16-12
1.5/8-12
1.7/8-12

TpounHuk perynupyembin BSP

Adjustable BSP male run Tee

5240-02-04
5240-04-05
5240-04-06
5240-06-06
5240-06-08
5240-08-10
5240-12-10
5240-12-12
5240-16-16

8
10
10
12
16
14-16
20
25

1/4"

5/16"

3/8"
318"
1/2"
5/8"
5/8"
3/a"
1

7/16" - 20
1/2"- 20
9/16" - 18
9/16" - 18
3/4" - 16
7/8" - 14
7/8" - 14
1.1/16" - 12
1.5/16" - 12

1/8-28
1/8-28
1/4-19
1/4-19
1/4-19
1/4-19
3/8-19
3/8-19
3/8-19
3/8-19
3/8-19
1/2-14
1/2-14
1/2-14
1/2-14
3/4-11
3/4-11
3/4-11
3/4-11
1-11
1-11
1-11
1.1/4-11
1.1/4-11
1.1/2-11

1/4“
1/4"
3/8"
3/8"
1/2"
3/4"
3/4"
1"

20
21
21
21
25
21
21
22
25
28
23
25
28
33
28
30
33
37
36
37
41
39
41
45

7
29
29
29
30
33
33
33
33
35
39
39
39
41
44
44
44
47
47
47
49
49
49

14
19
19
19
19
24
24
24
24
24
27
27
27
27
36
36
36
36
41
41
41
50
50
60

14
14
14
14
19
19
19
19
19
22
22
22
22
27
27
27
27
33
33
33
41
41
41
48

'h:!-_“

11
11
11
11
13
13
13
16

56
59
64
69
80
88
92
98

32
32
37
37
43
49,3
50
52

14
14
19
19
22
27
27
33

24-F



Il imimm.

5250

5255

TpounHuk perynupyembin BSP

Adjustable BSP male branch Tee

ot | | e |
| mm | nch | F__| 1 [ Cc]L[IH]E]
6 1/8" 23 26 14 11

5250-02-04 1/4" 7/16" - 20
5250-04-05 8 5/16" 1/2" - 20 1/4" 24 32 19 14
5250-04-06 10 3/8" 9/16" - 18 1/4" 27 32 19 14
5250-06-06 10 3/8" 9/16" - 18 3/8" 27 37 22 19
5250-06-08 12 1/2" 3/4" - 16 3/8" 32 37 22 19
5250-08-08 12 1/2" 3/4" - 16 1/2" 34 43 27 22
5250-08-10 16 5/8" 7/8"-14 1/2" 37 43 27 22
5250-12-12 20 3/4" 1.1/16" - 12 3/4" 42 50 36 27
5250-16-16 25 1" 1.5/16" - 12 1" 46 52 41 33
- C -
Perynupyembiii aganTtep, HakugHas oy
ravka JIC/BSP T T
I
Adjustable Elbow with Swivel Nut JIC/BSP "_i 1 !
| |
=) |
E |
i
1K
1
| F
o | | e
. mm | nch | F [ T [BJ[CJ|]E[H[] K |
5255-02-04 6 1/4" 7/16-20 1/8-28 18 26 14 12 17
5255-04-04 6 1/4" 7/16-20 1/4-19 18 32 19 14 17
5255-04-05 8 5/16" 1/2-20 1/4-19 19 32 19 14 17
5255-04-06 10 3/8" 9/16-18 1/4-19 23 32 19 14 19
5255-04-08 12 1/2" 3/4-16 1/4-19 24 35 19 19 24
5255-06-05 8 5/16" 1/2-20 3/8-19 22 37 22 19 17
5255-06-06 10 3/8" 9/16-18 3/8-19 23 37 22 19 19
5255-06-08 12 1/2" 3/4-16 3/8-19 25 37 22 19 24
5255-06-10 14-16 5/8" 7/8-14 3/8-19 26 40 22 22 27
5255-08-08 12 1/2" 3/4-16 1/2-14 27 43 27 22 24
5255-08-10 14-16 5/8" 7/8-14 1/2-14 29 43 271 22 27
5255-08-12 18-20 3/4" 1.1/16-12 1/2-14 31 46 27 27 32
5255-12-10 14-16 5/8" 7/8-14 3/4-11 29 55 36 27 27
5255-12-12 18-20 3/4" 1.1/16-12 3/4-11 31 55 36 27 32
5255-12-16 25 1" 1.5/16-12 3/4-11 36 58 36 33 41
5255-16-12 18-20 3/4" 1.1/16-12 1-11 36 60 41 33 32
5255-16-16 25 1" 1.5/16-12 1-11 38 60 41 33 41
5255-20-20 30-32 1.1/4" 1.5/8-12 1.1/4-11 46 62 50 42 50
5255-24-24 38 1.1/2" 1.7/8-12 1.1/2-11 53 65 55 48 55

25-F



tit L

n
Jliigd y/press ":

L]
ali

ainlMmM.

5036

Apantep HakmaHasa ramka JIC X BSP

HapyXHas pe3bba ¢ ynnotHeHnem ED

(DIN 3852 ¢popma E)

Connector swivel JIC female X BSP male with "ED"

seal (DIN 3852 form E)

part number

5036-02-04
5036-02-05
5036-04-04
5036-04-05
5036-04-06
5036-04-08
5036-06-04
5036-06-05
5036-06-06
5036-06-08
5036-06-10
5036-08-06
5036-08-08
5036-08-10
5036-08-12
5036-12-10
5036-12-12
5036-12-16
5036-16-12
5036-16-16
5036-16-20
5036-20-16
5036-20-20
5036-20-24
5036-24-24

— |

T |8 [D|H[E] |
1/8" 8 26 14 14

@ tube

[ mm | inch [ F [ T |
6 1/4" 7/16"-20
8 5/16" 1/2"-20 1/8"
6 1/4" 7/16"-20 1/4"
8 5/16" 1/2"-20 1/4"
10 3/8" 9/16"-18 1/4"
12 1/2" 3/4"-16 1/4"
6 1/4" 7/16"-20 3/8"
8 5/16" 1/2"-20 3/8"
10 3/8" 9/16"-18 3/8"
12 1/2" 3/4"-16 3/8"
16 5/8" 7/8"-14 3/8"
10 3/8" 9/16"-18 1/2"
12 1/2" 3/4"-16 1/2"
16 5/8" 7/8"-14 1/2"
20 3/4" 1.1/16"-12 1/2"
16 5/8" 718"-14 3/4"
20 3/4" 1.1/16"-12 3/4"
25 1" 1.5/16"-12 3/4"
20 3/4" 1.1/16"-12 1"
25 1" 1.5/16"-12 1"
32 1.1/4" 1.5/8"-12 1"
25 1" 1.5/16"-12 1.1/4"
32 1.1/4" 1.5/8"-12 1.1/4"
32 1.1/4" 1.7/8"-12 1.1/4"
38 1.1/2" 1.7/8"-12 1.1/2"

8
12
12
12
12
12
12
12
12
12
14
14
14
14
16
16
16
18
18
18
20
20
20
22

28
26
27
28
30
28
29
30
32
36
31
34
38
38
39
39
43
41
44
45
47
47
54
55

17
14
17
19
22
14
17
19
22
27
19
22
27
32
27
32
41
32
41
50
41
50
60
60

14
19
19
19
19
22
22
22
22
22
27
27
27
27
32
32
32
41
41
41
50
50
50
55

26-F



R i ‘ M
yiss 'JP'ES ”. —— A J '] l'”l:ll'lrﬁlllg
B .. c
1903 KoHHekTOp HapyXHble pe3bbbl JIC/BSPT i
Male Connector Jic/BSPT I
mm-—-n-ﬂ—

1903-02-04 6 1/4" 7/16-20 1/8-28

1903-02-05 8 516" 1220 1/8-28 31 10 14 14
1903-04-04 6 1/4" 7/16-20 1/4-19 36 15 14 14
1903-04-05 8 516" 1220 1419 36 15 14 14
1903-04-06 10 3/8" 9/16-18 1/4-19 36 15 14 16
1903-04-08 12 172" 3/4-16 1419 39 15 17 19
1903-06-06 10 3/8" 9/16-18 3/8-19 36 15 14 19
1903-06-08 12 172" 3/4-16 3819 39 15 17 19
1903-06-10 14-16 5/8" 7/8-14 3/8-19 44 15 20 24
1903-08-08 12 172" 3/4-16 12-14 36 19 17 22
1903-08-10 14-16 5/8" 7/8-14 1/2-14 48 19 20 24
1903-08-12 1820 34" 111612 1214 53 19 22 27
1903-12-10 14-16 5/8" 7/8-14 3/4-11 50 19 20 27
1903-12-12 18-20 3/4" 1.1/16-12 3/4-11 53 19 22 27
1903-12-16 25 1" 1.5/16-12 3/4-11 54 19 23 36
1903-16-12 18-20 3/4" 1.1/16-12 1-11 58 24 22 36
1903-16-16 25 1" 1.5/16-12 1-11 59 24 23 36
1903-16-20  30-32  1.1/4" 15812 111 62 24 25 42
1903-20-20 30-32 1.1/4" 1.5/8-12 1.1/4-11 62 25 25 46
1903-20-24 38 1.1/2" 1.7/8-12 1.1/4-11 67 25 28 50
1903-24-24 38 1.1/2" 1.7/8-12 1.1/2-11 68 25 28 50

5165 ApanTep 90° JIC/BSPT

Male 90° Elbow Jic/BSPT

5165-02-04
5165-02-05
5165-04-04
5165-04-05
5165-04-06
5165-04-08
5165-06-06
5165-06-08
5165-06-10
5165-08-08
5165-08-10
5165-08-12
5165-12-10
5165-12-12
5165-12-16
5165-16-12
5165-16-16
5165-16-20
5165-20-20
5165-20-24
5165-24-24

14-16
12
14-16
18-20
14-16
18-20
25
18-20
25
30-32
30-32
38
38

1/4"

5/16"

1/4"

5/16"

3/8"
1/2"
3/8"
1/2"
5/8"
1/2"
5/8"
3/4"
5/8"
3/4"
1"
3/4"
1"

1.1/4"
1.1/4"
1.1/2"
1.1/2"

7/16"-20
1/2"-20
7/16"-20
1/2"-20
9/16"-18
3/4"-16
9/16"-18
3/4"-16
7/8"-14
3/4"-16
7/8"-14
1.1/16"-12
7/8"-14
1.1/16"-12
1.5/16"-12
1.1/16"-12
1.5/16"-12
1.5/8"-12
1.5/8"-12
1.7/8"-12
1.7/8"-12

1/8-28
1/8-28
1/4-19
1/4-19
1/4-19
1/4-19
3/8-19
3/8-19
3/8-19
1/2-14
1/2-14
1/2-14
3/4-11
3/4-11
3/4-11
1-11
1-11
1-11
1.1/4-11
1.1/4-11
1.1/2-11

20
28
28
28
31
31
31
33
38
38
41
41
41
45
50
50
60
61
66
67

24
27
27
27
32
29
32
37
34
37
42
40
42
46
45
46
52
52
59
59

14
14
14
14
19
14
19
22
22
22
27
27
27
33
33
33
41
41
48
48

27 -F



mkypress ||} R Y || 1TT1LM.M.

5265

™,
4 g
o / 5,
KoHHekTOp 45° HapyXxHble pe3b6bi JIC/B ¢ ® >
Male 45° Elbow Jic/BSPT NN

m-
mm-—---_—

5265-02-04 4" 7/16-20 1/8-28 17

5265-04-04 1/4" 7/16-20 1/4-19 22 21

5265-04-06 10 3/8" 9/16-18 1/4-19 22 21

5265-06-06 10 8" 9/16-18 3/8-19 24

5265-06-10 14-16 5/8" 7/8-14 3/8-19 25

5265-08-10 14-16 5/8" 7/8-14 1/2-14 30 28 22

5265-12-10 14-16 5/8" 7/8-14 3/4-11 31

5265-12-16 25 1" 1.5/16-12 3/4-11 33 37

5265-16-16 25 1" 1.5/16-12 1-11

5265-20-20 30-32 1.1/4" 1.5/8-12 1.1/4-11 43 41

5265-24-24 38 1.1/2" 1.7/8-12 1.1/2-11 45 45 48

Fluid Power Care

28 -F

IMM Group



mkypress ||} R Y || 1TT1LM.M.

5275

TpOWNHUK HapyXHble pe3b0Obl
JIC/BSPT

Run Tee Jic/BSPT

m-
mm-—n--_—

5275-02-04 4" 7/16-20 1/8 23 20 12

5275-04-04 1/4" 7/16-20 1/4 27

5275-04-06 10 3/8" 9/16-18 27

5275-06-06 10 8" 9/16-18 3/8 29 31

5275-06-10 14-16 5/8" 7/8-14 3/8 37

5275-08-10 14-16 5/8" 7/8-14 1/2 37

5275-12-10 14-16 5/8" 7/8-14

5275-12-16 25 1" 1.5/16-12 3/4 46 45

5275-16-16 25 1" 1.5/16-12 46 50

5275-20-20 30-32 1.1/4" 1.5/8-12 1.1/4 52 61

5275-24-24 38 1.1/2" 1.7/8-12 1.1/2 59 67 48

Fluid Power Care

29-F

IMM Group



mkypress ||} R Y || 1TT1LM.M.

5280

TpOWNHUK HapyXHble pe3b0Obl
JIC/BSPT

Branch Tee Jic/BSPT

e N N
mm-—n--_—

5280-02-04 4" 7/16-20 1/8 23 20 12

5280-04-04 1/4" 7/16-20 1/4 2

7
_--__--__

5280-04-06 10 8" 9/16-18 1/4 27

5280-06-06 10 8" 9/16-18 3/8 29 31

5280-06-10 14-16 5/8" 7/8-14 3/8 3

7
_--__--__

5280-08-10 14-16 5/8" 7/8-14 1/2 37

5280-12-10 14-16 5/8" 7/8-14

5280-12-16 25 1" 1.5/16-12 3/4 46 45

5280-16-16 25 1" 1.5/16-12 46 50

5280-20-20 30-32 1.1/4" 1.5/8-12 1.1/4 52 61

5280-24-24 38 1.1/2" 1.7/8-12 1.1/2 59 67 48

Fluid Power Care

30-F

IMM Group



L]
ali

ainlMmM.

1777

5395

KoHHekTOp HapyXHble pe3bbbl JIC/meTp

Male Connector Jic/Metric DIN 3852-1

part number

1777-10-04
1777-10-05
1777-12-04
1777-12-05
1777-14-06
1777-16-06
1777-16-08
1777-18-08
1777-18-10
1777-22-10
1777-22-12
1777-27-12
1777-27-16
1777-33-16
1777-42-20
1777-48-24

KoHHeKTOp HapyXHble pe3bObl,

@ tube
6 1/4"
8 5/16"
6 1/4"
8 5/16"
10 3/8"
10 3/8"
12 1/2"
12 1/2"
14-16 5/8"
14-16 5/8"
18-20 3/4"
18-20 3/4"
25 1"
25 1"
30 1.1/4"
38 1.1/2"

7/16-20
1/2-20
7/16-20
1/2-20
9/16-18
9/16-18
3/4-16
3/4-16
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

yAnuHeHHbIn JIC/meTtpuka DIN

3852-2

Long Male Connector Jic/Metric DIN 3852-1

M10x1
M10x1
M12x1,5
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5
M27x2
M27x2
M33x2
M42x2
M48x2

30
30
33
33
34
35
38
40
42
45
48
53
54
54
58
65

9
12
12
12
13
13
14
14
15
15
19
19
19
20
22

14
14
14
14
14
17
17
20
20
22
22
23
23
25
28

16
17
17
19
22
22
24
24
30
30
36
36
41
50
60

5395-10-04
5395-10-05
5395-12-04
5395-12-05
5395-14-06
5395-16-06
5395-16-08
5395-18-08
5395-18-10
5395-22-10
5395-22-12
5395-27-12
5395-27-16
5395-33-16
5395-42-20
5395-48-24

14-16
14-16
18-20
18-20
25
25
30
38

1/4"

5/16"

1/4"

5/16"

3/8"
3/8"
1/2"
1/2"
5/8"
5/8"
3/4"
3/4"
1"
1"

1.1/4"
1.1/2"

7/16-20
1/2-20
7/16-20
1/2-20
9/16-18
9/16-18
3/4-16
3/4-16
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

M10x1
M10x1
M12x1,5
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5
M27x2
M27x2
M33x2
M42x2
M48x2

52
53
54
56
59
60
69
71
76
78
90
94
103
103
122
136

9
12
12
12
13
13
14
14
15
15
19
19
19
20
22

37
36
37
40
40
48
48
53
53
64
64
72
72
88
99

16
17
17
19
22
22
24
24
30
30
36
36
41
50
60

31-F



r".!"!"lll

Jliigd y/press ".

L]
ali

ainlMmM.

5400

5405

KoHHekTop 90° perynupyemMbii, -
HapyXHble pe3b0obl '
JIC/meTtpuka DIN 3852-1

Adjustable Elbow JIC/Metric DIN 3852-1

e N N
mm-_ﬂ-lllﬂ_

5400-10-04 6 1/4" 7/16-20 M10x1 23

5400-10-05 8 516"  1/2-20 MiOx1 24 27
5400-12-04 6 1/4" 7/16-20 M12x1,5 27 32
5400-12-05 8 516" 1/2-20  M12x15 27 32
5400-14-06 10 3/8" 9/16-18 M14x1,5 27 32
5400-16-06 10 38" 9/16-18  M16x1,5 29 38
5400-16-08 12 1/2" 3/4-16 M16x1,5 32 38
5400-18-08 12 12" 3416 M18x15 32 40
5400-18-10 14-16 5/8" 7/8-14 M18x1,5 37 41
5400-22-10 14-16 5/8" 7/8-14 M22x1,5 37 43
5400-22-12 18-20 3/4" 1.1/16-12 M22x1,5 42 45
5400-27-12 18-20 3/4" 1.1/16-12 M27x2 42 52
5400-27-16 25 1" 1.5/16-12 M27x2 46 52
5400-33-16 25 1" 151612  M33x2 46 53
5400-42-20 30 1.1/4" 1.5/8-12 M42x2 52 58
5400-48-24 38 1.1/2" 1.7/8-12 M48x2 59 67

KoHHekTop 90° perynupyembin -

14
14
14
14
19
19
19
22
22
27
27
33
33
41
48

14
17
17
19
22
22
24
24
27
27
36
36
41
50
60

HapyXHble pe3bbObl,
yAnuHeHHbIn JIC/meTtpuka DIN

Long Adjustable Elbow JIC/Metric DIN 3852-1

part number @ tube
mm-_ﬂ-lllﬂ_

5405-10-04 6 1/4" 7/16-20 M10x1 23

5405-10-05 8 5/16" 1/2-20 M10x1 24 50 14 14
5405-12-04 6 1/4" 7/16-20 M12x1,5 27 54 14 17
5405-12-05 8 5/16" 1/2-20 M12x1,5 27 54 14 17
5405-14-06 10 3/8" 9/16-18 M14x1,5 27 57 14 19
5405-16-06 10 3/8" 9/16-18 M16x1,5 29 67 19 22
5405-16-08 12 1/2" 3/4-16 M16x1,5 32 67 19 22
5405-18-08 12 1/2" 3/4-16 M18x1,5 32 67 19 24
5405-18-10 14-16 5/8" 7/8-14 M18x1,5 37 75 22 24
5405-22-10 14-16 5/8" 7/8-14 M22x1,5 37 78 22 27
5405-22-12 18-20 3/4" 1.1/16-12 M22x1,5 42 88 271 27
5405-27-12 18-20 3/4" 1.1/16-12 M27x2 42 95 27 36
5405-27-16 25 1" 1.5/16-12 M27x2 46 105 33 36
5405-33-16 25 1" 1.5/16-12 M33x2 46 105 33 41
5405-42-20 30 1.1/4" 1.5/8-12 M42x2 52 124 41 50
5405-48-24 38 1.1/2" 1.7/8-12 M48x2 59 141 48 60

32-F



mkypress ||} R Y || 1TT1LM.M.

5410 KoHHekTOp 45° perynupyembin
Hapy>XHble pe3bObl
JIC/meTtpuka DIN 3852-3

Adjustable 45° Elbow JIC/Metric DIN 3852-1

e N R
mm_—n-nﬂ—

5410-10-04 4" 7/16-20 M10x1 19 27 12 14
_--__----_
5410-12-04 1/4" 7/16-20 M12x1,5 21 29 14
_--__----_
5410-14-06 10 8" 9/16-18 M14x1,5 21 29 14
_--__----_
5410-16-08 12 2" 3/4-16 M16x1,5 25 33 19 22
_--__----_
5410-18-10 14-16 5/8" 7/8-14 M18x1,5 28 35 22 24

5410-22-12 18-20 3/4" 1.1/16-12 M22x1,5 33 41 27 27

5410-27-16 25 1" 1.5/16-12 M27x2 37 46
_--__----_
5410-42-20 30 1.1/4" 1.5/8-12 M42x2 41 41

Fluid Power Care 33-F IMM Group



r".!"!"lll

Jliigd y/press ".

L]
ali

ainlMmM.

5420

5425

Perynupyembin TPOMHUK
meTtpuka DIN 3852-1/JIC

Adjustable Run Tee Metric DIN 3852-1/JIC

part number

5420-10-04
5420-10-05
5420-12-04
5420-12-05
5420-14-06
5420-16-06
5420-16-08
5420-18-08
5420-18-10
5420-22-10
5420-22-12
5420-27-12
5420-27-16
5420-33-16
5420-42-20
5420-48-24

Perynupyembin TPOMHUK
meTtpuka DIN 3852-1/JIC

@ tube
6 1/4"
8 5/16"
6 1/4"
8 5/16"
10 3/8"
10 3/8"
12 1/2"
12 1/2"
14-16 5/8"
14-16 5/8"
18-20 3/4"
18-20 3/4"
25 1"
25 1"
30 1.1/4"
38 1.1/2"

7/16-20
1/2-20
7/16-20
1/2-20
9/16-18
9/16-18
3/4-16
3/4-16
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

Adjustable Branch Tee Metric DIN 3852-1/JIC

part number

5425-10-04
5425-10-05
5425-12-04
5425-12-05
5425-14-06
5425-16-06
5425-16-08
5425-18-08
5425-18-10
5425-22-10
5425-22-12
5425-27-12
5425-27-16
5425-33-16
5425-42-20
5425-48-24

@ tube
6 1/4"
8 5/16"
6 1/4"
8 5/16"
10 3/8"
10 3/8"
12 1/2"
12 1/2"
14-16 5/8"
14-16 5/8"
18-20 3/4"
18-20 3/4"
25 1"
25 1"
30 1.1/4"
38 1.1/2"

7/16-20
1/2-20
7/16-20
1/2-20
9/16-18
9/16-18
3/4-16
3/4-16
7/8-14
7/8-14
1.1/16-12
1.1/16-12
1.5/16-12
1.5/16-12
1.5/8-12
1.7/8-12

M10x1
M10x1
M12x1,5
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5
M27x2
M27x2
M33x2
M42x2
M48x2

M10x1
M10x1
M12x1,5
M12x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M22x1,5
M22x1,5
M27x2
M27x2
M33x2
M42x2
M48x2

23
24
27
B
27
29
32
32
37
37
42
42
46
46
52
59

27
32
32
32
38
38
40
41
43
45
52
52
53
58
67

14
14
14
14
19
19
19
22
22
27
27
33
33
41
48

14
17
19
17
22
22
24
24
27
27
36
36
41
50
60

24
27
27
27
29
32
32
37
37
42
42
46
46
52
59

27
32
32
32
38
38
40
41
43
45
52
52
53
58
67

14
14
14
14
19
19
19
22
22
27
27
33
33
41
48

14
17
19
17
22
22
24
24
27
27
36
36
41
50
60

34-F



Il imimm.

5037

5040

Apantep HakmgHas ramka JIC X

MeTpuKa HapyHas pe3bba ¢

YyNIOTHEeHN

em ED

Connector swivel JIC female X Metric male with

"ED" seal

part number

5037-10-04
5037-10-05
5037-12-04
5037-12-05
5037-14-05
5037-14-06
5037-16-06
5037-16-08
5037-18-08
5037-18-10
5037-20-10
5037-22-10
5037-22-12
5037-27-12
5037-27-16
5037-33-16
5037-42-20
5037-48-24

3arnyuwka HapyxHasa pe3b6a UNF

UNF male plug

5040-04
5040-05
5040-06
5040-08
5040-10
5040-12
5040-16

@ tube

6 1/4"
8 5/16"
6 1/4"
8 5/16"
8 5/16"
10 3/8"
10 3/8"
12 1/2"
12 1/2"
16 5/8"
16 5/8"
16 5/8"
20 3/4"
20 3/4"
25 1"
25 1"
32 1.1/4"
38 1.1/2"

7/16"-20
1/2"-20
7/16"-20
1/2"-20
1/2"-20
9/16"-18
9/16"-18
3/4"-16
3/4"-16
7/8"-14
7/8"-14
7/8"-14
1.1/16"-12
1.1/16"-12
1.5/16"-12
1.5/16"-12
1.5/8"-12
1.7/8"-12

M10x1
M10x1
M12x1,5
M12x1,5
M14x1,5
M14x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M20x1,5
M22x1,5
M22x1,5
M27x2
M27x2
M33x2
M42x2
M48x2

7/16" - 20
1/2"- 20
9/16" - 18
3/4" - 16
7/8" - 14
1.1/16" - 12
1.5/16" - 12

8
8
8
12
12
12
12
12
12
14
14
14
16
16
18
20
22

245
26,0
245
26,0
26,0
26,8
27,3
29,6
30,6
34,6
35,6
36,1
36,2
36,7
40,4
41,4
43,8
51,3

17
19
21
24
27
28

17
14
17
17
19
19
22
22
27
27
27
32
32
41
41
50
60

%

—

35-F



mkypress ||} R Y || 1TT1LM.M.

J605  3arnywka HapyxHas pe3bba

Male plug

ot | | omee
mm———-_—

J605-04 7/16" - 20
_--____
J605-06 9/16" - 18
_--____
J605-10 7/8" - 14
_--____
J605-14 1.3/16" - 12
_--____
J605-20 1.5/8"-12

J608  3arnywka HakuagHas raika

Female Plug Swivel

i | | e ]
mm———-:-—

J608-04 7/16" - 20

J608-06 9/16" - 18

* SAE 45°_--____

J608-08 3/4" - 16

J608-12 1.1/16"-12

J608-16 1.5/16" - 12

J608-24 1.7/8"-12

Fluid Power Care 36-F IMM Group



